
ASSEMBLY INSRTRUCTION
ITEM:Kitchen  Cart

N707P173041

1



1
2

1 2 4 11 3 11

5 6 8 11 7 11

3

4

5

6

7

8

9

10

10
10

12

13
14

15

15

16

17

18
20

19

11

11

21

22

23

23

24

24

25

25

26

26

28

27

27

29

30

1 10 3 11 2 12 1

14 113 1 15 2 16 1

18 117 1 19 1 20 1

22 121 1 23 2 24 2

26 225 2 27 2

31 5

28 1

30 129 1

9

31

31
31

31
31

2



30 1730A B C

 4  236D E F

25 58 4G H I

 8 20 7J K L

 3 2M N

M4*12

M4*35 M3*12

M5*12

 5O
M4*50

G1

G

G2

x4

 8P

3



03

02G1 2PCS
I 4PCS

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

I

I

A

A
A

A
G1

G1

A
A

A A
4

3

A 10PCS
G1 2PCS
I 4PCS

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

I

I

I

I

I

I

6 6

A

4



05

04

17

18

A

A

18

19

B

C

C

B

18

19

17

B

C
C

20

B

A 2PCS

C 2PCS
B 1PC

C 2PCS
B 1PC

5



07

06

H
H

H
H

4

17

18

H 4PCS

H 4PCS

Q
:4x50m

m

H
:4x35m

m

Q
:4x50m

m

H
:4x35m

m

H H

3

15

HH

15

16

6



B 1PCS 09

08

4

9

B
B

B 4PCS

A

8

B

B

4

8

9

5

A 1PCS

7



11

10

C 1PCS

Q
:4x50m

m

H
:4x35m

m

A

12

A 1PC

B 1PCS

5

12
8

4

9

8



5

4

10

12

13

H 1PC

H

6
5

12

8

4

9

9



15

14

5

411 10

5

410

10

10



17

16

5

410

1011

5

41011

10

11



5

8

9

4

3

12

B

B

B
B

B

L 20PCS O 5PCS
M 2PCS
N 3PCS

B 5PCS

L L

L

O
O O

OO

L
L

M

M
N N

N

7

7

3131
31

31
31

OR

19

18

12



20H 8PCS
C 8PCS

C C

C
C CC

H
H

H

H
H H

H
H

5

7

4

3

8

9

C

C

13



III
IIIIII

I

I

I
I

III

22

21

29
30

J

JJ

J

8

3

29

30

I 12PCS

I 12PCS

J 4PCS

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

14



I

I

I

24

23

A
A

A

A

A

A

A
A

J

J

J

1
2

1
2

I 18PCS
J 3PCS

A 8PCS

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

15



26

25

21

22

A
A

A A

A
A

A
A

12

3

4

B
B

B

BB

B 8PCS
C 4PCS

A 8PCS

BB

C
C

C
C

16



I

I

I

I

28

27

H

H

H

H

x2

x2

24

25

23

24

25

G2

G2

I 8PCS
G2 4PCS

H 8PCS

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

Q
:4x50m

m

H
:4x35m

m

17



30

29

B
B

B

B

x2

23

24

25

24

25

22

26

B

B 4PCS

18



32

31

B
B

B

B

24

25

21

22

G2 G1

B

B 4PCS

21

19



34

33

13

14

K
K

K
K

K
K

KK3

1

K 8PCS

D 8PCS
E 4PCS

27

DD

DD
E

E

 The “27” left door uses an  “E” hinges and door “28”is installed on the right 
 side and uses an  “E” hinges.Please note

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

D

D

E

28

D

E
D

E

20



35

28

E

E3

D 8PCS

D

D

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

21

36D 8PCS

27

E D

E D
28

D
:4x12m

m

I:
3x12m

m

L:5x12m
m



37

38

D 4PCSF 2PCS

D 8PCS

  “F” hinges for the middle door.

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

D
:4x12m

m

I:
3x12m

m

L:5x12m
m

D

DF

D

D

F

27

F

F
D

D

28

27

27

D
D

F

D
D

F

22



39

23



41

40P 4PCS

P 4PCS

P
P P

P

P
P

P
P

You can remove towel racks and storage racks

24


